
U3(3).2 (mod 3)

blocks defect matrix

G : 1 3 14× 7
2 0 271 = χ10,0, ϕ9,0

3 0 272 = χ10,1, ϕ9,1

Block 1: ϕ1,0 ϕ1,1 ϕ2+ ϕ4+ ϕ6,0 ϕ6,1 ϕ7+

11 = χ1,0 1 . . . . . .
12 = χ1,1 . 1 . . . . .
61 = χ2,0 . . 1 . . . .
62 = χ2,1 . . 1 . . . .
71 = χ3,0 . . . . 1 . .
72 = χ3,1 . . . . . 1 .
141 = χ4+ 1 1 . 1 . . .
142 = χ6,0 1 . 1 . 1 . .
143 = χ6,1 . 1 1 . . 1 .
211 = χ7,0 2 . . 1 1 . .
212 = χ7,1 . 2 . 1 . 1 .
421 = χ8+ . . . 1 . . 1
561 = χ11+ . . 2 . 1 1 1
641 = χ13+ 1 1 1 1 1 1 1

ϕ1,0 = 11
ϕ1,1 = 12
ϕ2+ = 61
ϕ4+ = 121
ϕ6,0 = 71
ϕ6,1 = 72
ϕ7+ = 301


